Division par 0,1 (I)

Trouvez chaque quotient.

97 +-0,1= 40+ 0,1 =
17 +0,1= 99 +- 0,1 =
87 +0,1= 78 +-0,1 =
89 +0,1= 82+01=
9+0,1= 97 - 0,1 =
28 +0,1= 36 -0,1=
37 +0,1= 39+0,1=
100+ 0,1 = 21+0,1=
63+01= 97 - 0,1 =
16 -0,1 = 28+0,1=
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Division par 0,1 (I) Solutions

Trouvez chaque quotient.

97 +-0,1 =970 40+ 0,1 =400
17+0,1=170 99 +- 0,1 =990
87 +0,1=870 78 +0,1 =780
89 +- 0,1 =890 82 + 0,1 =820
9+01=90 97 - 0,1 =970
28 + 0,1 =280 36 +0,1=360
37 +0,1=370 39 +0,1=390
100+-0,1=1000 21+0,1=210
63 + 0,1 =630 97 =+ 0,1 =970
16 + 0,1 =160 28 =+ 0,1 =280
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